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—~(33%) On April 1, 2006, NTIT Company issued $4,000,000 face value of 8%, 5-year bonds. The bonds pay semiannual
interest on March 31 and September 30, NTIT Company uses the effective interest method to amortize bond premium
or discount. The market rate is 10%.

Instructions :

(1) Compute the selling price on April 1, 2006.

(2) Prepare the adjusting entry on December 31, 2006.

(3) The bonds are callable at 102, and on June 30, 2008, NTIT Company called $1,000,000 face amount of the bonds
and retired them. Compute the amount of loss to be recognized by NTIT Company as a result of retiring the
$1,000,000 of bonds in 2008.
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